The Package: Answers
Test Three

n Why did Amir wish that he was wearing a thicker pair of socks?

e Amir wished that he was wearing a
thicker pair of socks because the feeling
had disappeared from his toes.

e Amir wished that he was wearing a thicker
pair of socks because his toes were cold.

Amir jumped up and down on the spot.
What does this description suggest about how Amir is feeling?

Accept any answer which references Amir feeling excited.

« This description suggests that Amir is feeling
excited about receiving the parcel.

 This description suggests that Amir is looking
forward to finding out what is inside the parcel.

The two characters are experiencing very different weather.
Explain how the weather that Amir is experiencing is different
to the weather that Sadira is experiencing.

Accept any answer which makes a comparison between
the cold weather that Amir is experiencing and the warm
weather that Sadira is experiencing.

e Amir is experiencing cold weather because
he is dressed in thick clothes and his toes
are cold. Sadira is experiencing hot weather
because the only way that she can cool down
is in a swimming pool with a cold drink.

What has Sadira most likely included within the package?

Tick one.

a sun hat |:| a woolly hat

a knitted toy |:| a baseball cap |:|

How did Amir know that the parcel was from Sadira before
he opened it?

Amir knew that the parcel was from Sadira before he
opened it because he recognised her writing.

Do not accept: She had written her name on it.
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